
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 

SPARE PARTS CATALOG 

LCD TOUCH 
 

 
 
 
 
 
 
 
 

HOT LIQUID COFFEE 
DISPENSING UNIT 

 
 

 
 
 
 
 

“FRESH COFFEE WITH A TOUCH 
OF VIRTUAL REALITY” 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 2 

 

TABLE OF CONTENTS 
 

Tube Assembly, BIB & Others Page 3  
  
Tank Assembly 1600W Small Pages 4 & 5 
  
Pump Assembly Pages 6 - 7 
  
Valve Assembly Page 8 
  
Miscellaneous Components Pages 9 - 16 
  
Door Assembly Pages 17 - 19 
  
Tank Assembly 1750W Large Pages 20 - 26 
  
  
  
  

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 3 

 
ITEM # IMAGE DESCRIPTION UM 

Tube Assemblies, BIB & Others 

120422 
 

Tube Assembly, BIB 12.00”  1  EA.  

120383 
 

Silicone Tubing, Grey 1/4 x 1/2 x 12.00” [111240] 1 EA. 

107117 

 

Connector, Scholle 1910L 1  EA.  

120683 

 

Clamp, SNP6-10C2 Black [Small] 1  EA.  

120684 

 

Clamp, SNP8-10C2 Black [Large] 1 EA. 

122069 

 

Hose, Barb – Angled Stem .64 1 EA. 

     

     

 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 4 

 
TANK ASSEMBLY TOUCH 1600W [122110] 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 5 

 
TANK ASSEMBLY TOUCH 1600W [122110] – Continued 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 6 

 
ITEM # IMAGE DESCRIPTION UM 

Pump Assembly – [104155-10] 

104155-10 

 
Pump Head Assembly, LCD-2 1  EA.  

122067 

 

Fitting, Barb 1.049” Small Tail, LCD 1  EA.  

122066 

 

Fitting, Barb 1.44” Large Tail, LCD 1  EA.  

120428 
 

Mounting Bracket, Pump LCD-2 1  EA.  

121404 

 

Spring, 5.5” Peri Pump LCD 1  EA.  

121405 

 

Tube, 13.625” LCD Pump 1  EA. 

121406 

 

Spring, 4” Peri Pump LCD 1  EA. 

411039 

 

Hose Clamp, .510ID 1  EA. 

 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 7 

 

ITEM # IMAGE DESCRIPTION UM 

Pump Assembly – [104155-10] - Continued 

500024 
 

Screw, 2.6 mm x 5.0 mm FHMS SS 1  EA. 

205083 

 

Bulkhead Union, 1/4 Tube 1  EA.  

121295 

 

Mounting Bracket, Mixing Chamber 1  EA.  

400526 

 

Label, Bistro 1 & 2 , Rinse 1 EA. 

     

     

     

     

 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 8 

 
ITEM # IMAGE DESCRIPTION UM 

 Valve Assembly [120378] 

120378 

 

Valve Assembly, Inlet .500 GPM & Elbow 1  EA.  

100177 

 

Elbow, Male 1/4F x 1/8P 1  EA.  

101377 

 

Fitting, Solenoid 1/8P  1  EA.  

201175 

 

Valve, Solenoid Plastic .50 GPM N&G 
 

1  EA.  

202103 

 

Strainer/Flow Control Body With Caps, Only 1  EA.  

110114 

 

Strainer Screen 1  EA.  

202103-10 

 

Strainer Assembly 1/4F, Long SS 1  EA.  

790019 

 

Nylon Gasket, Flow Control 1  EA.  

 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 9 

 
ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components  

100054 

 

Lock Washer, #8 SS  
 

1  EA.  

100061 

 

Nut, 8-32 Hex SS 1  EA.  

120575 

 

Plug, Tank drain 5/16” Tube 1  EA.  

101035 

 

Grommet, Strain Relief 14/3 1 EA. 

120578 

 

Drain Clamp, LCD Series 1  EA.  

104137 

 

Washer, Star Lock .690 ID  1  EA.  

104151 

 

Check Valve, Duck .301 x 0.656 1 EA. 

105048 

 

Screw, 8-32 x 3/8” Washer PPHMS SS 1  EA. 

 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 10

 
 

ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components - Continued 

105115 

 

Transformer, 120VP 24VCT 40VA 2  EA.  

110626 

 

On – Off Switch, Power 1  EA.  

110958 

 

Relay, 12V DC 1  EA.  

111634 

 

Hose Clamp, .459ID 1 EA. 

120436 

 

Spring Retainer Clip, Mix Chamber 1  EA.  

781843 

 

Power Cord, 14/3 With Shrink 1  EA.  

122101 

 

Control Board Assembly, Touch  1 EA. 

781697 

 

Clamp, Adhesive 1  EA. 

 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 11

 
 

ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components - Continued 

511050 

 

Bushing, Snap On split 1  EA.  

103600 

 

Fan Assembly 1  EA.  

121470 
 

Power Converter Assembly, 24AC 
 

1  EA.  

131133 

 

Grommet, Solenoid Valve [Dump] 1 EA. 

900083 

 

Easy Clean Solution, Scholle 1  EA.  

100003 

 

Snap On Bushing, 3/4"  1  EA.  

100104 

 

Washer, 3/8” External Lock Zinc 1 EA. 

100191 

 

Nut, 6-32 Hex SS 1  EA.  

 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 12

 
ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components - Continued 

100192 

 

Pop Rivet SS 1  EA.  

100212 

 

Washer, #6 External Lock SS 1  EA.  

100284 

 

Plastic Tie, 5 3/4" 1 EA. 

100340 

 

Convenience Outlet 1 EA. 

101938 

 

Grommet, silicone .359” ID x .875” OD 1  EA. 

102333 

 

Screw, 6-32 x 3/8” Combo Head Self Tapping 1  EA. 

103120 

 

#8 Washer Internal Tooth, SS 1  EA. 

105110 

 

Screw, 6-32 x 3/8” combo Blk. 1 EA. 

 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 13

 
ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components - Continued 

107240 

 

8-32 Nut, With Nylon Insert 1  EA.  

111058 

 

Silicone Tube, Right Angle 3.25” 1  EA.  

105048 

 

Screw, 8-32 x 3/8” With Washer PPHMS SS 1 EA. 

111377 

 

Foot, Appliance 3/8-16 x 1” 1 EA. 

111667 

 

Nut, 3/8-16 Jam ZPS  1 EA. 

104161 

 

Chamber, Mix Double Stem  
 

1 EA. 

105043 

 

 Screw With Washer, 6-32 x 3/8” PPHMS SS 1 EA. 

111634 

 

Hose Clamp, .459ID 1 EA. 

 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 14

 
ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components - Continued 

120580 

 

Lead Wire, 14 Ga. 5” Teflon 2-2 Violet-Black 1  EA.  

121570 

 

Label, 4 Piece Coffee/hot Water/Mix Bowl Et al 1  EA.  

121895 

 

Silicone Tubing, 5/16” ID x 1/2" OD x 24” 
[Overflow Tube] Raw # is 121899 

1 EA. 

701309 

 

Screw, 6-32 x 1/2" Internal Washer 1 EA. 

704209 

 

Copper Tube Assembly, 1/4" x .030” x 1.5” 1 EA. 

78153 

 

Screw, 8-32 x 7/8”  PPHMS SS  1 EA. 

122052 

 

Drip Tray, Plastic Bistro Touch 1 EA. 

122113 

 

Daughter Board Assembly, LCD Touch 1 EA. 

 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 15

 
ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components - Continued 

122989 

 

Holder, LED Panel Black 2 Pcs. 1  EA.  

123017 

 

Bracket, Hose Position 1  EA.  

123018 

 

Nozzle, Dispenser 1 EA. 

781040 

 

Bulk Head Fitting With Shield [CAPPAC Water] 1 EA. 

123051 

 

Silicone Tubing, 5/16” x 7/16” x 2.00” 1 EA. 

123054 

 

Silicone Tubing, 5/16” x 7/16” x 1.25” 1 EA. 

123062 

 

Label, Back Flow Prevention 1 EA. 

120067 

 

Silicone Tube, 90° Right Angle 3.25” 1 EA. 

 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 16

 
ITEM # IMAGE DESCRIPTION UM 

Miscellaneous Components - Continued 

123068 

 

Coupler, 3/8” 1  EA.  

123094 

 

Label, Decaf/Coffee 1  EA.  

128114 

 

Grid, Drip Tray  Cover SS 1 EA. 

128148 

 

Label, “Place Cup Here” 1 EA. 

152164 

 

Washer, .218” ID x .562” OD SS 1 EA. 

     

     

     

 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 17

 
ITEM # IMAGE DESCRIPTION UM 

Door Assembly LCD Touch – [122105] 

122105 

 

Door Assembly, LCD Touch 10” 1  EA.  

100191  

 

Nut, 6-32 Hex SS 1  EA.  

100212 

 

Lock Washer, #6 External Tooth SS 1 EA. 

105043-B 

 

Screw with Washer, 6-32 x 3/8” PPHMS Black 1 EA. 

105048 

 

Screw, 8-32 x 3/8” Washer PPHMS SS 1 EA. 

110359 

 

Screw, #8 x 1/2" PPHZPS Hi-Lo 1 EA. 

120558 

 

Lock, Cam Sealed Black 1 EA. 

121301 

 

Magnet, 1/2" x 1.00” x 1/4" 1 EA. 

 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 18

 
ITEM # IMAGE DESCRIPTION UM 

Door Assembly LCD Touch – [122105] - Continued 

121302 

 

Bumper, clear 11/32” x 5/64” 1  EA.  

122051 

 

Door Frame, Plastic Bistro Touch 1  EA.  

122106 

 

Tablet, 10” Asus Programmed LCD Touch 1 EA. 

122108 

 

Label, Start Instruction LCD Touch ASUS 1 EA. 

122109 

 

Label, Daily Cleaning LCD Touch 1 EA. 

122120 

 

Label, Silver Door, LCD Touch 1 EA. 

128127 

 

Retainer, Tablet 10” ASUS 1 EA. 

 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 19

 
ITEM # IMAGE DESCRIPTION UM 

Door Assembly LCD Touch – [122105] - Continued 

128129 

 

Latch, Hasp Bistro Touch 1  EA.  

773041 

 

Screw, #8 Housing 1  EA.  

781258-B 

 

Hinge, Male Black [Shown is a SS Male Hinge] 1 EA. 

781259-B 

 

Hinge, Female Black [Shown is a SS Female Hinge] 1 EA. 

128128 

 

Cover, Touch Screen 10” ASUS 1 EA. 

     

     

     

 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 20

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assembly – 1750W Large Tank [122130] 

122130 

 

Tank Assembly Large, 1750W 1  EA.  

100030 

 

Gasket, Brass .566 ID Tin Plated 1  EA.  

100054 

 

Lock Washer, #8 SS  
 

1 EA. 

100061 

 

Nut, 8-32 Hex SS 1 EA. 

100149 

 

Elbow, Male 1/4C x 1/8NPT 1 EA. 

100166 

 

Sleeve, 3/8” Compression Brass 1 EA. 

100170 

 

Nut, 3/8” Compression Brass 1 EA. 

100431 

 

Nut, 9/16-24 x 11/16H Brass 1 EA. 

 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 21

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assembly – 1750W Large Tank [122130] - Continued 

101720 

 

Connector, Female 3/8C x 1/8NPT Brass 1  EA.  

102333 

 

Screw, 6-32 x 3/8” Combo Head Self Tapping 1  EA.  

110944 

 

Sleeve, 1/4" Self-Aligning Compression Brass 1 EA. 

110946 

 

Nut, 1/4" Self-Aligning Compression Brass 1 EA. 

111634 

 

Hose Clamp, .459 ID 1 EA. 

119879 

 

Nut, Faucet 3/8-18 Chrome Plated 1 EA. 

119882 

 

Gasket, Tank 1 EA. 

120388 

 

Fill Tube, LCD-2 1 EA. 

 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 22

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assembly – 1750W Large Tank [122130] - Continued 

120680 

 

Silicone Tubing, 1/4” x 1/2" x 13.00” [781871] 1  EA.  

121449 

 

Silicone Tubing, 5/16” ID x 1/2” OD x 20.0””  
[Over Flow Tube] 

1  EA.  

122118 

 

Silicone Tubing, 5/16” ID x 1/2” OD x 14.50””  
[Hot Water] 

1 EA. 

122131 

 

Lid Assembly 1750W LCD Touch – Large Tank 1 EA. 

100190 

 

Nut, Jam 1/2-20 Jam Brass 1 EA. 

100269 
 

Bracket, Hi Limit Thermostat 1 EA. 

100409 

 

Gasket, .520 ID Brass 1 EA. 

111593 

 

Hi Limit Thermostat, Vertical Tabs 221F 25A 1 EA. 

 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 23

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assembly – 1750W Large Tank [122130] - Continued 

122132 

 

Tank Lid Only, LCD Touch LT 1  EA.  

151677 
 

Temperature Probe, Dual 7.312” 1  EA.  

152198 

 

Lead wire, Violet-Black 14 GA. Teflon 1S-1S 1 EA. 

202025-10 

 

Heating Element, 1750W 120V 1 EA. 

500038 

 

Silicone Grommet, No Slit .060 1 EA. 

500350 

 

Grommet, Probe Bushing 5/16”  
[Used With Probe] 

1 EA. 

500396 
 

Probe Assembly, 1.537” With Bushing 1 EA. 

122133 

 

Tank Only, Large LCD Touch 1 EA. 

 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 24

 
ITEM # IMAGE DESCRIPTION UM 

Tank Assembly – 1750W Large Tank [122130] - Continued 

123110 

 

Muller Valve 12V & Grommet 
 [Hot Water Faucet]  

1  EA.  

123111 

 

Muller Valve 110V & Grommet 1  EA.  

123433 

 

Silicone Tubing, 5/16” ID x 1/2” OD x 7.50””  
[Coffee Tube] 

1 EA. 

202044 

 

Insert, Tubing 3/16” 1 EA. 

701702 

 

Silicone Tubing, 3/8” ID x 5/8” OD x 32.0” 
[Drain Tube] 

1 EA. 

780300 

 

Teflon Tubing, 3/16” x 1/4" x 19.0” 
[Water Inlet Tube] 

1 EA. 

122141 

 

Pump Assembly With Spring RH LCD Touch Large Tank 1  EA.  

     

 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 25

 
TANK ASSEMBLY TOUCH 1750W [122130 LARGE] 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 26

 
TANK ASSEMBLY TOUCH 1750W [122130 LARGE] – Continued 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 27

 
 

NOTES 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



LCD TOUCH 
LIQUID COFFEE DISPENSING MACHINE [HOT] 

18-Mar-20                                          NEWCO ENTERPRISES 1.800.325.786 www.newcocoffee.com 28

 
 

NOTES 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


